
  1 

date prénom : 

C 

Rallye-calcul : étoile rouge 

2,7 < 

28,6 < 

< 2,8 

< 28,7 

62,4 <  

36,3 < 

< 62,5 

< 36,4 

65,2 < 

4,5 < 

< 65,3 

< 4,6 

5,2 + 

54,9 + 

= 6 

= 55 

32,2 + 

79,5 + 

= 33 

= 80 

36,1 + 

3,7 + 

= 37 

= 4 

6,2 + 45,72 = 

26,14 + 3,4 = 

18,5 + 3,68 = 

156,3 + 0,75 = 

45,68 + 6,5 = 

54,5 + 6,4 = 



  2 

6,3 × 5 = 

2,7 × 50 = 

6,9 × 50 = 

3,5 × 5 = 

5,4 × 50 = 

4,7 × 5 = 

Rallye-calcul : étoile rouge 

25 × 101 = 

4 × 99 = 

24 × 99 = 

25 × 101 = 

71 × 99 = 

19 × 101 = 

5,3 × 0,1 = 

48,2 × 0,1 = 

65,32 × 0,1 = 

95,241 × 0,1 = 

6,35 × 0,1 = 

58 × 0,1 = 

45,258 - 0,3 = 

56,24 - 0,5 = 

45,12 - 0,8 = 

2,154 - 0,6 = 

54,126 - 0,2 = 

15,24 - 0,7 = 


